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Use the Law of Sines when...you have 3 dimensionsof a triangle and you need to find the other, 3. %
dimensions - they cannot be just ANY 3 dimensions z-mugh or you won't have enough info to solve !
the Law of Smés equatlon Use the Law of Smes if you are given: y !
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You are gyVen(a triangle, ABC, w1th angle A 70° ang]e B 80° and 51de a= ;12 cm. Fmd the

measures of angle C and sndes b and A _ N
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A You are glvenatrtangle, ABC, with angleC 115° angleB 30° and suiea 30 cm Fmd the
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When given SSA (two sides and an anglé ’tﬁat‘- NOT the mc]uded angle) the situation is amhlguous
' The dlmensions ‘may not form a triangle, o re may be 1 orf2 triangles with the glven dimensions. .

: We{ljrst go through a series of tests to determ ne how many (1f any) solutlons exist.
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‘ ‘2 IfangleAls obtuse, anda>b!§ne suchtnangle exxs@ WO 7 e R
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leen a trlangle with angle A= 120°, sxde
a=22.cm and side b__15_cn1,

find the other dimensions.  © 4
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ond >\ \

Givena trlangle withlangle A = 40°,

sidea =12 cm and side b=10 b=10¢cm,
.——-——__*

find the other dlmensmns '
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\ijs
Given a triangle with angle A =40°,

. \
y IfjﬂgleAls\amte. anda> bEe possible mangl@ \

cC=\1.79 o

6. If angle A is acute, ‘and h <a<b, two possible triangles exist.

b
s;dea'-12 cm and side b = 15 cm, _
find the other dlmensmns 5
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lf‘ang]eA is Wilifa<b S no solutlon
' obtuse Jifa> b => one solutlon'
‘ 1"

| find the height,
Wik = btsind |

if a </ = no solution’ T

ifangle’A is acute’

ifh<a<p->2 eolutlons%\
'one with angle B c.zcate R
one with angle B obfuse - '

ifa>b> 'h--) 1 solution -

If a=h —) 1 solutlon
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Day 4 Homework

Law of Sines

(L State the number of possible triangles that can be formed using the given measurements.

1) meC=24°b=29yd,c=14yd

7

3) meC=170°b=34yd,c=5yd
1 \

O.

2) m£B=104%a=8m,b=8m

O

4) m£B=40° a=14cm, b=24cm

/ AN
Find each measurement indicated. Round your answers to the nearest tenth. / \

5) meB=140°, msA=12° ¢ =27 m
Find b
%q m | LA

7) m4C =62° b =14 mi, c=9mi ¥ g
Find a

Ncﬁ’ @ Tﬁ?‘hﬁs‘lﬁ‘ |

9) meC=27°b=23i m,c 21 in
Find m£B .

2A4.%° oy VSD.2°)

11) meC=43°b=33ft,c= 17 ft
Find mZB

NOY o Tria~gle

6) mzA=3Q°, miB= 36°b 23|uh
Find b
j ¥
27V
8) msA = 104°, msB=39°,a=37 vd
Find b |
‘ f )
PAS yol
| 10) meAd =128, c=10f,a=38 ft
Find m£C

12) m£C=96° b=5mi, c =26 mi
Find m<B g

¥

Solve each triangle. Round your answers to the nearest tenth. 4

9 13) mzB=59°, msA=24°a=9m

LLFAT, b= \O\m C*22MA

14) mzA=37°,a=35mi,c=17mi
LB=12U°, &= 1Y) btk fni
\S
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